
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Version: 1.0 EN   /   Item no.: 00602-3-175 

 

  PRV mounting instructions for hydr. 
  tine adjustment AS900 SCHKL/ AS1200 
 

Please read carefully before initial operation! 
 
 

  



Page 2 

Contents 

1 Items included ..................................................................................................................... 2 

2 Mounting of the pressure relief valve (PRV) on the centre frame .................................... 3 

3 Connection of the hydraulic lines ...................................................................................... 4 

4 Installation of the stop pins ................................................................................................ 5 

5 Adjustment of the pressure relief valve (PRV) .................................................................. 6 
 
 
 
 

1 Items included 

 

 00600-3-117  T-piece L12 M18x1.5-M18x1.5-M18x1.5  1x 

 00602-2-628   Pressure gauge 0-250 bar    1x 

 00602-3-093  Screw-in fitting L12 G14 M18x1.5   1x 

 07015-2-115  PRV locking block, installed    1x 

 07015-2-116  PRV stop pin hydr. TA, installed   8x 

 07015-3-045  Bushing B-20-12.5-13, galvanised   8x 

 07015-3-046  Sheet metal profile PRV 01 RAL3020  1x 

 BN161-M6  Locking nut M6     1x 

 BN161-M8  Locking nut M8     2x 

 BN56-M6x50  Hexagonal bolt M6x50    1x 

 BN57-M8x70  Hexagonal bolt M8x70    2x 

 BN715-M6  Flat washer M6     2x 

 BN715-M8  Flat washer M8     2x 

 BN732-M8x25 Large diameter washer M8x25   2x 
  



  Page 3 

2 Mounting of the pressure relief valve (PRV) on the centre 
frame 

 
1) The base plate clamped onto the cylinder mount using 2 hexagonal bolts M8x70 incl. large 

diameter washers M8x25, flat washers M8 and locking nut M8 
(Figure 1). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
2) Then the PRV locking block mount is installed on the base plate with 2 flat washers M6, 1 locking 

nut M6 and a hexagonal bolt M6x50 (Figure 2).   

 

Figure 1: Installation of the base plate on the cylinder mount 

 

 

Figure 2: Installation of the PRV locking block unit 



Page 4 

3 Connection of the hydraulic lines 

Then the hydraulic lines are connected as follows (Figure 3): 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 

CAUTION! 
 
The 4 newly connected hydraulic lines must each be tightened with a tightening torque of 
40 Nm. 

 
 
 
 
 
 
 

 

PT1 Tractor – pressure side (+) 

PT2 Tractor – return flow side (-) 

PTA1 Tine adjustment – pressure side (+) 

PTA2 Tine adjustment – return flow side (-) 

 

Figure 3: Overview of all connections 

 

Figure 3 
 

PT1 

PT2 

PTA
1 

PTA2 



  Page 5 

4 Installation of the stop pins 

 
To move the hydraulic tine adjustment to the desired variable end position, the stop pins incl. the 
bushings must be installed on each tine section.  
 
To do so, 8 pieces are required for each tine section: 

 07015-2-116 PRV stop pin hydr. TA, installed  

 07015-3-045 Bushing B-20-12.5-13, galvanised  
 
The stop pins are positioned in the desired hole, and the bushing is threaded onto the stop pin on the 
other side. After positioning the stop pin, the bushing is secured with the spring cotter. 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  

 

Figure 4: Installation of the stop pin 

 



Page 6 

5 Adjustment of the pressure relief valve (PRV) 

 
As soon as all of the hydraulic lines are properly connected and tightened, the adjustment of the 
triggering pressure of the PRV can begin. 
To be able to precisely adjust the triggering pressure, the pressure gauge with the T-piece must 
interposed on the pressure side on the hydraulic cylinder for the hydraulic tine adjustment.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

CAUTION! 
 
Exceeding the pressure can cause consequential damage on the tine section. 

 For this reason, make sure that the pressure on the pressure gauge does not exceed  
100 bar (Figure 5)! 

 

CAUTION! 
 
Tighten the hydraulic fittings with a tightening torque of 40 Nm. 

  

 

Figure 5: Adjusting the PRV using the pressure gauge on the 
hydraulic cylinder of the hydraulic tine adjustment  

 

Max. 100 bar 



  Page 7 

As soon as all of the connections have been tightened with the prescribed torque and the 
hydraulic tine adjustment is connected to the tractor, the pressure adjustment can begin. 
To do so, the hydraulic tine adjustment must be pressurised from the tractor. At the same time, 
the socket screw on the PRV (Figure 6) must be screwed in to increase the triggering pressure of 
the PRV. The socket screw must be screwed in until the pressure gauge on the hydraulic cylinder 
for the tine adjustment displays exactly 100 bar. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

 
When the setting has been reached, the socket screw is countered with the nut and thus secured 
against loosening. 
Afterwards, the pressure gauge can be removed from the hydraulic cylinder for the tine 
adjustment. 
 
 

CAUTION! 
 
Tighten the hydraulic fittings with a tightening torque of 40 Nm. 

  

 

Figure 6: Socket screw – For adjusting the triggering 
pressure 

 

 



Page 8 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  APV – Technische Produkte GmbH 
 HEADQUARTERS 
 Dallein 15, AT-3753 Hötzelsdorf, Austria 
 Telephone: +43 (0) 2913 / 8001 email: office@apv.at 
 Fax: +43 (0) 2913 / 8002 Web: www.apv.at 
 
 
 APV Kompetenz-Center Nord GmbH 
 Westerburger Weg 49a, D-26203 Wardenburg, Germany 
 Telephone: +49 (0) 4407 / 71865-0 email: office@apv-deutschland.de 
 Fax: +49 (0) 4407 / 71865-19 Web: www.apv-deutschland.de 
 
 
 
Photo credits: Company photos © APV – Technische Produkte GmbH 
 
 
Company details 

APV - Technische Produkte GmbH, Managing Director: Ing. Jürgen Schöls (CEO), Markus Alschner (CFO) 
Headquarters, Dallein 15, AT-3753 Hötzelsdorf, Austria, marketing@apv.at, www.apv.at, VAT ID no.: ATU 5067 1107 
 
APV Kompetenz-Center Nord GmbH, Managing Director: Ing. Jürgen Schöls, Westerburger Weg 49a, 
D-26203 Wardenburg, Germany, Tel.: +49 (0) 4407 / 718650, office@apv-deutschland.de, www.apv-deutschland.de 
Tax number: 64/213/01979, Registry court: 26122 Oldenburg, DE, VAT ID no.: DE815600103 
 
Concept and text:  © APV – Technische Produkte GmbH 
Graphics: Jürgen Undeutsch, M.A. (Undeutsch Media eU) 


